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© 0.04
£
8.009
>
3.008
b
®.007
=
9.006
0.005
0.004
0.003
0.002

0.007]

Ratio
N W €

10 15 20 25 30 35 40
TP hits

—=— DQM_V0001_R000000001__Global__cmssw1000time__RECO
—— DQM_V0001_R000000001__Global__mkFitNewOLD1000time__RECO
[Efficienc] —— DQM_v0001_R000000001_ Global__mKkFitNewTEST1000time_ RECO

¢ 0.0%
[

2.009
%.008
Iy

9.007
©

9.006
[}

0.005,
0.004
0.003
0.002
0.001

10 12 14 16 18 20 22 24
TP layers

» 0.0
¢ 0.0%

TP pixel layers

Efficiency vs 3D layer

© 0.01—

14 16 18 20
TP 3D layers



	Contents
	Page 1


